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Reasoning Aptitude

In the question given below, three statements are
given followed by two conclusions. You have to
take the given statements to be true even if they
seem to be at variance from commonly known
facts. Read the conclusions and decide which of
the given conclusions logically follows from the
given statements disregarding the commonly
known facts.

Statements: Some Meta users are WhatsApp
users.

Some Telegram users are WhatsApp users.

No Telegram users are Meta users.

Conclusions: I. Only a few WhatsApp users are
Meta users.

II. All WhatsApp users being Telegram users is a
possibility.

(A) Both | and Il follows

(B) Only Il follows

(C) Either I or Il follows

(D) Neither | nor Il follows

(E) Only I follows

In the following question, three statements are
given and two conclusions are given below these
statements. Choose the option which shows the
conclusions which logically follow from the given
statements, disregarding commonly known facts.
Statements: Some pencils are chalks.

All chalks are slates.

Only a few slates are books.

Conclusions: |I. Some slates are pencils.

Il. Some slates are chalks.

(A) Only | follows (B) Only Il follows

(C) Either | or Il follows (D) Both | and Il follow
(E) Neither | nor Il follows

In the following question, two statements are given
and three conclusions are given below these
statements. Choose the option which shows the
conclusions which logically follow from the given
statements, disregarding commonly known facts.
Statements: Only a few packets are boxes.

No bin is a packet.

Conclusions: I. All boxes can be packets.

Il. Some bins are boxes.

Ill. Some boxes are not bins.

(A) Only | follow

(B) Only Il follow

(C) Either | or Il and Il follows

(D) Only Il and 1l follow

(E) Only I and Il follow

Directions [04 — 07]: Seven persons — A, B, C, D, E, F and

G sit in a linear row from west to east and face in
the north direction for the interview, but not
necessarily in the same order. They belong to
different cities viz., Agra, Jalna, Surat, Delhi, Kochi,
Pune and Ajmer.

G sits fifth to the right of D, who belongs to Kochi.
F sits adjacent to A and C. Either two or three
persons sit to the left of F. B belongs to Surat and
is not an immediate neighbour of G. The persons
sitting to the left of F belong neither to Delhi nor
Agra. C belongs to Delhi. Person who belongs to
Pune sits immediately to the right of the person
who belongs to Agra. A does not belong to Ajmer.
D sits at one of the ends.

Both the persons who belong to Surat and Ajmer
sit
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(A) To the right of D and left of A
(B) Between C and E

(C) To the right of E

(D) Adjacent to A

(E) None of these

Which among the following option is correct?

(A) B = Delhi (B) G = Pune
(C) E = Surat (D) A = Agra
(E) F = Ajmer

What is the position of B with respect to E?
(A) Fourth to the left (B) Third to the right
(C) Second to the left (D) Fifth to the left
(E) Sixth to the left

How many persons sit between D and E?

(A) More than 4 (B) 3
(C) 2 (D) No one
(E) One

Directions [08 — 12]: A farmer grows ten different types of

10.

1.

12

vegetables in the consecutive months from January
to December except for April and May. The
vegetables are — Beans, Spinach, Cabbage, Chilly,
Garlic, Ginger, Onion, Potato, Tomato and Turnip.
Only one vegetable is grown in each month.

Turnip is neither grown in a month of 31 days nor
after Beans. Four vegetables are grown between
Chilly and Turnip. Spinach is grown in September.
More than two vegetables are grown between
Spinach and Tomato. Ginger is grown immediately
before Tomato. Five vegetables are grown between
Tomato and Onion. Potato is grown immediately
after garlic but before Chilly.

Which of the following vegetable is grown in
March?

(A) Garlic (B) Cabbage
(C) Beans (D) Onion
(E) Tomato

If June is related to Garlic, November is related to
Beans, in the same way, which of the following
months is related to Potato?

(A) January (B) September

(C) November (D) July

(E) August

How many vegetable(s) is/are grown after Onion?
(A) None (B) Four

(C) Two (D) Five

(E) One

is grown in March immediately after
(A) Cabbage, Tomato (B) Garlic, Turnip
(C) Beans, Chilly (D) Onion, Spinach
(E) None of these

Which of the following statements is true?

I. Spinach is grown after Beans

Il. Four vegetables are grown between Ginger and
Potato

IIl. Turnip is grown in February

(A) Only 11l (B) Only |
(C) Both I and II (D) All I, Il and 11l
(E) Only I

Directions [13 — 15]: Study the given information carefully

and answer the questions below it:

Tanaya walks 15m from point R towards the south
direction and reached at point J. From there she
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21.

13.
14.

15.

turns right and walks 20m to the point F. Then she
turns to her right and walks 5m to the point E,
again she walks to the west direction and reached
at point G After walking 8m she turns to her right
and walks 10m to the point Q. Again she walks 5m
to her right and reached to her destination to the
point Z.

Point R is in which direction with respect to point
z?

(A) North

(C) East

(E) North — West

(B) South
(D) West

What is shortest distance between point Q and

point F?

(A) 12m (B) 15m

gg; 12§>m (D) 20m
m

In which direction is point B with respect to point A?
(A) East (B) North — East

(C) South — West (D) South — East

(E) North — West

Directions [16 — 18]: Seven buckets marked as A, B, C, D,

16.

17.

18.

19.

20.
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E, F, G have different amount of water in it. Bucket B
has more water than bucket E which has 33L of
water in it. Only one bucket has more water than
bucket D. Bucket A which has 48L water in it, is
more than bucket B but less than bucket D. Bucket
G has more water than bucket C but less than
bucket E.

What could be the possible amount of water in
bucket B?

(A) 50L (B) 40L

(C) 23L (D) 18L

(E) 50L

How many buckets have less water than bucket A?
(A)3 (B) 5

(C) 4 (D) 2

(E) None of these

Which of these statements is true?

(A) Bucket G has more than 33L of water

(B) Bucket B has the second lowest amount of water
(C) Bucket G has the lowest amount of water

(D) Bucket F has the highest amount of water

(E) None of these statements is true

In the question given below, a statement is
followed by conclusions given in options based on
the statement. Study the conclusions and select
the correct option as the answer.

Statement: M=N2G<L2P<0>Y

(A)M<L (B)L>Y

(C)O>G (D)M>L

(E) Either (A) or (D)

In the question below, a statement is followed by
two conclusions based on the statement. Study the
conclusions and select the correct option as the
answer.

Statement: M2T>H>X;S>X2P2>J
Conclusions: I. T >J I.P<T

(A) Only Il follows

(B) Either | or Il follows

(C) Neither | nor Il follows

(D) Both | and Il follow

(E) Only | follows
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In the question below, a statement is followed by
two conclusions based on the statement. Study the
conclusions and select the correct option as the
answer.

Statement: X>R=C<V;T2H=G 2R
Conclusions: . V=G . T=2C

(A) Neither | nor Il follows

(B) Only Il follows

(C) Either | or Il follows

(D) Both | and Il follow

(E) Only | follows

Directions [22 — 24]: Five boxes of different dairy products

22,

23.

24.

viz. Butter, Cheese, Yoghurt, Cream and Paneer
are arranged one above the another in a stack. The
positions of boxes are numbered 1 — 5 from bottom
to top.

Only one box is between the box of Paneer and
box B2. Three boxes are kept between box B3 and
box B5, which is the box of Cheese. Two boxes are
kept between the Yoghurt box and the Cream box,
which is kept immediately below Paneer box. Box
B1 is kept immediately above box B4, which is kept
at an even — numbered position.

Which of the following box contains Butter?

(A) B1 (B) BS

(C) B2 (D) B4

(E) B3

How many boxes are kept above the cheese box?
(A) None (B) 1

(C) 2 (D) 3

(E) 4

Box B3 is kept immediately below box ,
which contains
(A) B5, Butter

(C) B2, Cream
(E) B4, Paneer

(B) B4, Yoghurt
(D) B1, Cheese

Directions [25 — 28]: Eight persons — Arif, Toman, Fiza,

25.

26.

27.

Zoya, Nazma, Irfan, Benzi and Hamza are sitting
around a circular table, some of them are facing
the centre and some of them are facing away from
the centre. Not more than two persons sitting
together face the same direction.

Nazma sits third to the left of Benzi and immediate
right of Arif. Benzi does not face outside the centre.
Irfan sits third to the right of Hamza and both of
them face the same direction. Both Nazma and Arif
face the same direction. Neither Benzi nor Irfan is
an immediate neighbour of Fiza. Fiza sits second
to the left of Nazma and both of them face the
opposite direction. Two persons sit between Toman
and Zoya, who sits immediate right of Benzi.

Who among the following sit adjacent to Irfan?
(A) Arif and Nazma (B) Toman and Benzi
(C) Hamza and Zoya (D) Zoya and Toman
(E) Benzi and Fiza

How many people sit between Hamza and Toman?
(A) 1 (B) 2

(C)3 (D) 4

(E) Either 2 or 4

Four persons are related to each other in some
way and thus form a group. Which of the following
person does not belong to that group?

(A) Hamza (B) Arif
(C) Benzi (D) Zoya
(E) Nazma
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28.

29.

30.

31.

32.

33.
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Toman sits immediate right of , who is
facing the centre.

(A) Fiza, inside (B) Zoya, outside

(C) Irfan, inside (D) Nazma, inside

(E) Hamza, outside

The question below is followed by two statements
named | and Il. You have to decide, if these
statements are sufficient to answer the question
and mark the correct option.

What is coded as 'aq ht'?

Statement I: 'repeated story yourself' is coded as
'ty jk Ip' and 'culture yourself accept' is coded as 'cx
Ip re'

Statement Il: 'prime attractive repeated' is coded
as 'tm ht jk' and 'simple culture accept' is coded as
're aq cx'

(A) If data in statement | alone is sufficient to
answer the question, while the data in statement Il
alone is not sufficient to answer the question.

(B) If data in statement Il alone is sufficient to
answer the question, while the data in statement |
alone is not sufficient to answer the question.

(C) If data either in statement | alone or in
statement Il alone is sufficient to answer the
question.

(D) If data in both statement | and statement Il
together are not sufficient to answer the question.
(E) If the data in both statement | and statement I
together are sufficient to answer the question.

If a meaningful word can be formed using the 29,
6th, 8t and 9t |etters of the word 'RIGHTWINGER',
then what is the second letter from the left end of
the word formed? If no such word can be formed,
then mark X as your answer while if more than one
such word can be formed, then mark Z as your
answer.

(A) (B) X
(C)z (D) N
(E) G

If in the given number '628264378', the digits at the
1st, 3rd, and 6th position from the left end are
decreased by one within the number, then how many
digits are either succeeded or preceded by the same
digit in the new number?

(A) 2 (B) 1

(C) None (D) 3

(E) More than 3

Nine persons — R, S, T, U, V, W, X, Y and Z are
sitting in a linear row facing north direction. R sits
third to the left of X and second to the right of Z. Y
does not sit adjacent to W. Three persons sit
between X and T, who sits exactly in the middle of
the row. W sits fourth to the right of V, who sits
immediate right of S. How many persons sit
between Y and U?

(A) 2 (B)3

(C)4 (D)5

(E) More than 5

Eight persons A, B, C, D, E, F, G and H sit around
a circular table. Four of them are facing the centre
and four of them are facing outside the centre. B
sits third to the left of C. H sits third to the right of A
and immediate left of C. Three persons sit between
D and G, who sits second to the left of A. C does
not face outside the centre. E sits second to the
right of F and both of them face the same direction
as C. What is the position of F with respect to H?
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34.

35.

36.

37.

38.

39.

(A) Second to the left
(C) Immediate left
(E) Third to the left

(B) Third to the right
(D) Second to the right

Four of the following letter clusters are similar in
some manner. Find the odd one.

(A) LUHF (B) WUSQ
(E) MKIG (O

How many pairs of letters are there in the word
"BLEACHERS" which has as many letters between
them as in the alphabetical series when counted
from both sides?
(A) Two

(C) One

(E) More than four

Quantitative Aptitude

Age of A after 10 years will be 2 timesthe present
age of B. Present age of C is 40% of the present
age of A. Sum of present ages of B and C is 50
years. The difference between the present ages of
A and C is how many years more or less than the
present age of B?

(B) Four
(D) Three

(A) 0 (B) 1
(C) 2 (D)3
(E) 4

The simple interest earned on a sum of Rs. 4200 at
15% per annum for 4 years is how much more than
the simple interest earned on Rs. 3000 at 20% per
annuum for 4 years?

(A) Rs. 110 (B) Rs. 130
(C) Rs. 120 (D) Rs. 100
(E) Rs. 150

The average marks of a student in 8 subjects are
increased by 4 when 120 marks of subject Hindi
are added. Find the average marks of students in 8
subjects excluding hindi subject.

(A) 86 (B) 88
(C) 84 (D) 80
(E) 90

Following question consists of a question and two
statements numbered | and Il given below it. You
have to decide whether the data provided in the
statements are sufficient to answer the question.
Read both the statements and give answer:

What is the ratio of Anil's age and Sunil's age?
Statement I: Sunil is 8 years older than Punit.
Average age of Anil and Punit after 5 years is 15
years.

Statement Il: The ratio of Anil's age after three
years and Punit's age before five years is 4: 5.

(A) If the data in statement Il alone is sufficient to
answer the question, while the data in statement |
alone is not sufficient to answer the question.

(B) If the data in statement | alone is sufficient to
answer the question, while the data in statement Il
alone is not sufficient to answer the question.

(C) If the data either in statement | alone or in
statement |l alone is sufficient to answer the
question.

(D) If the data in both statements | and Il together
are necessary to answer the question.

(E) If the data given in both statements, | and Il
together are not sufficient to answer the question.
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40.

The following question is followed by two
statements. Read both the statements carefully
and find that which of the following statement(s)
is/are sufficient to answer the question.

What is the present age of B?

Statement I: Product of present ages of A, B and
C is 1001.

Statement II: C is elder to both A and B. Present
ages of each of A, B and C is a prime number.

(A) If the data given in both statements | and Il
together are not sufficient to answer the question.
(B) If the data either in statement | alone or in
statement Il alone are sufficient to answer the
question.

(C) If the data in statement | alone are sufficient to
answer the question, while the data in statement Il
are not sufficient to answer the question.

(D) If the data in both statements | and Il together
are necessary to answer the question.

(E) If the data in statement Il alone are sufficient to
answer the question, while the data in statement |
are not sufficient to answer the question.

Directions [41 — 45]: Read the data carefully and answer the

41.

42,

43.

44,

45.
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following questions.

There are three hospitals R, S and T. The average
number of patients in hospitals R and S together is
460. The average number of patients in hospitals S
and T together is 420. The ratio of the total number of
patients in hospital S to that of hospital T is 2:1. The
ratio of the number of male patients to the number of
female patients in hospitals R and T is 5:4 and 3:2
respectively. The number of male patients in hospital
S is 40% less than the number of female patients in
the same hospital.

Total female patients in hospitals R and S together is
how much more or less than the total nhumber of
patients in hospital T?

(A) 210 (B) 280
o2 =3

Find the ratio of the number of male patients in
hospital S to the number of female patients in hospital
T.

(A) 5:3

(C) 8:15

(E) None of these

(B) 7:4
(D) 15:8

If 48% and 35% of male and female patients
respectively in hospital R are senior citizens, find the
total number of patients in hospital R who are not
senior citizens.

(A) 152 (B) 218
(®) 260 Pyiee

Find the sum of the average number of male patients
in hospital R and S together and the average number
of female patients in hospital S and T together.

(A) 394 (B) 436
(E) 460 P4

If the average number of patients in hospital R and P
together is 285, the total number of patients in
hospital P is what percent of the total number of
patients in hospital T?
(A) 75%

(C) 133.33%

(E) None of these

(B) 80%
(D) 60%
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46.

47.

In the following question two equations numbered |
and Il are given. You have to solve both the equations
and select the correct option.

X +30x+221=0 I.y'+18y +77=0

(A) x>y (B)x<y

(C)x=zy (D) x=y

(E) x =y or relationship cannot be established

In the following question, two equations numbered |
and Il are given. You have to solve both the
equations and choose the correct option.
LX+9x-10=0 .y =21y +104 =0
(A)x<y (B) x>y

(C)x<y (D)x=y

(E) x =y or relationship cannot be established

Directions [48 - 52]: Study the following information

48.

49,

50.

51.

carefully and answer the questions given below:
The following pie chart represents percentage wise
distribution of total number of students in five
different schools.

Total number of students in all five schools
together = 2500

Out of the total number of students in school S,
respective ratio of boys and girls is 11:9. Number
of boys in school Q is 25% more than the number
of boys in school S. Number of girls in school P is
20% more than the number of girls in school S.
Respective ratio of number of girls in school Q and
number of girls in school R is 7:6. Number of boys
in school T is 100 less than the number of boys in
school R.

Find the respective ratio of total number of boys in
school R and school T together and total number of
girls in school Q and school R together.

(A) 7:10 (B) 10:13

(C) 3:5 (D) 11:15

(E) None of these

If total number of students in school S is increased
by 30% and the number of boys in school S is
increased by 40, then find the approximate
percentage increase in number of girls in school S.

(A) 48% (B) 44%
(E) 30% Py 52
(0]

Number of boys in school P and school Q together
is approximately what percent of the total number
of students in school P and school Q together?

(A) 45% (B) 41%
(E) 50% (Y 5%
0

Find the average of the number of girls in school P,
number of girls in school T and number of boys in
school Q.
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52.

53.

54.

55.

56.

57.

58.

59.

60.
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(A) 222 (B) 323
(E) 335 (D) 240

Find the difference between total number of boys in
all the five schools together and total number of
girls in all the five schools together.

(A) 62 (B) 74
(C) 58 (D) 80
(E) 86

In the following question, a number series is given in
which one term is wrong. Find out the wrong term.
5,11, 36, 102, 181, 213, 214

(A) 214 (B) 11
(C) 102 (D) 181
(E) 213

Find the wrong term in the following series.
7.5,12, 18, 28.5, 42.5, 60

(A) 18 (B) 60
(C) 28.5 (D) 12
(E) 42.5

In the following question, a nhumber series is given
in which one term is wrong. Find out the wrong
term.

1.5, 6, 12, 16.5, 33, 37.5, 72

(A) 12 (B)37.5
gg; ; 2.5 (D) 72

In the following question, a number series is given
in which one term is missing. Find out the missing
term.

497, ?, 207, 126, 77, 52

(A) 328 (B) 304
(E) 344 ‘S

Select the option which can replace the question
mark (?) in the given series.
15.5,14.5, 26, 72, 278, ?

(A) 1080 (B) 1445
(®) 1750 ks

What should come in place of '?' in the following
series?
1133, 1114, 1093, ?, 1025, 968

(A) 1065 (B) 1075
(E) 1085 "

The ratio of petrol and kerosene in the container is
4:3 when 21 litres of the mixture is taken out and is
replaced by the same quantity of kerosene, the
ratio becomes 2:5. What is the total quantity of the
initial mixture in the container?

(A) 32 litres (B) 40 litres
(C) 35 litres (D) 42 litres
(E) 22 litres

The ratio between the downstream speed and the
upstream speed of a boat is 8: 5 and their difference
is 12 m/s. Find the time taken by the boat to cover
1872 m in still water?

(A) 1 minutes 12 seconds

(B) 1 minutes 15 seconds

(C) 1 minutes 10 seconds

(D) 1 minutes 18 seconds

(E) 1 minutes 16 seconds
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

The area of a right angled triangle is 54 cm® and
the longest side of the triangle measures 15 cm.
Find the perimeter of the triangle.

(A) 38 cm (B) 33 cm
z(EZ; jg cm (D) 36 cm
cm

A and B started a business with Rs. 9200 and Rs.
10400 respectively. After 4 months, A invests Rs.
3000 more and B withdrew Rs. 2000. Find the
share of A if the total profit after 1 year is Rs.
36480.

(A) Rs.19180
(C) Rs.23160
(E) Rs.20160

(B) Rs.25240
(D) Rs.28560

A and B together can do a work in 48 days and C can
do the same work in 80 days. If efficiency of A is 50%
more than the efficiency of B, then find the time that
will be taken by B and C together to complete the
whole work.

(A) 30 days (B) 36 days
(C) 42 days (D) 48 days
(E) 40 days

What approximate value should come in place of
(?) in the expression given below?
228 - 188 +9x8.014 =199 x ?

(A) 45 (B) 35
(C) 40 (D) 30
(E) 25

What approximate value will come in place of
question mark (?) in the following question?
24.98% of 100.04 + 59.99% of 70.01 = (?)" + 3.03

(A) 8 (B) 6
(c) 10 (D) 12
(E) 5

What approximate will come in place of question

mark (?) in the following questions?
144 x75 899

8.01 x? ~ 2.01

(A) 1 (B) 5
(€7 (D) 6
(E) 3

What will come in place of (?) in the expression
given below?
84% of [(15° — 35") +43] = ?

(A) 48 (B) 42
(c) 18 (D) 35
(E) 28

The cost price of a hand sanitizer is Rs.400. It is
sold at a gain of X%. If it has been sold for Rs. Y
more, (X + 6)% would have been gained. Find the
value of 30% of Y.

(A) 8.4 (B) 6.6
gg ;g (D) 9.6

In a tank of 240 litres liquid, blue colour and green
colour are mixed in the ratio of 4: 11. Find how
much blue colour should be added so that this ratio
becomes 1:2.

(A) 24 litres (B) 20 litres
(C) 26 litres (D) 23 litres
(E) 46 litres

The salary of employees in a company has
increased in the ratio 19:30 from the year 2020 to
2021 and their number has decreased in the ratio
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5:4 from the year 2020 to 2021. If the total amount
spent by the company on salary in 2020 was
Rs.190000, how much money (in rupees) was
spent by the company on salary of employees in
202172

(A) 240000 (B) 260000
(E) 250000 (D) 250008

English Language

In the given question, a word/idiom has been given
and there are three ways in which the word has
been used, in similar or different forms. You need
to see which of the sentences have correctly used
the highlighted word/idiom, and mark that as your
answer.

Meet

I. I would like you to meet a colleague of mine from
the previous company | worked at.

Il. The right wing of the car met the column in the
garage leaving a big dent.

Ill. A large portion of domestic meet production
comes from animals raised on factory farms.

(A) Only | (B) Only II
(C) Only IiI (D) Only I and II
(E) Only Il and Il

In the given question, a word/idiom has been given
and there are three ways in which the word has
been used, in similar or different forms. You need
to see which of the sentences have correctly used
the highlighted word/idiom, and mark that as your
answer.

Floor

I. There are a number of floormills and jam
factories in various centres in your city.

Il. He placed a plate of food on the floor and the
kitten ate greedily from the plate.

I1l. We were floored by his confession and the way
he presented his vulnerable side.

(A) Only Il and Il (B) Only |
(C) Only III (D) Only I
(E) All I, Il and Il

In the following question, a sentence is given with a
phrase highlighted in bold. Select the option given
below that can replace the phrase in bold to make
the sentence grammatically and contextually
correct and mark that as your answer. If the
sentence is correct as it is, mark 'No correction
required', as the answer.

The commission has given its reporton the
concerned matter.

(A) has given it report (B) have given its report
(C) were given its report (D) had give its report

(E) No correction required

In the following question, a sentence is given with a
phrase highlighted in bold. Select the option given
below that can replace the phrase in bold to make
the sentence grammatically and contextually
correct and mark that as your answer. If the
sentence is correct as it is, mark 'No correction
required', as the answer.

Every boy and girl were ready for the prom night.
(A) was ready (B) have ready

(C) has ready (D) will ready

(E) No correction required

In the following question, a sentence is given with a
phrase highlighted in bold. Select the option given
below that can replace the phrase in bold to make
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the sentence grammatically and contextually
correct and mark that as your answer. If the
sentence is correct as it is, mark 'No correction
required’, as the answer.

The jury could not take its decision yet because a
few judges thought that the accused was not guilty.
(A) Take their decision

(B) Deliver its opinions

(C) Took their judgement

(D) Came to their decision

(E) No correction required

In the following question, a sentence is given with a
phrase highlighted in bold. Select the option given
below that can replace the phrase in bold to make
the sentence grammatically and contextually
correct and mark that as your answer. If the
sentence is correct as it is, mark 'No correction
required', as the answer.

Not one of the candidates were wearing a
proper uniform during the examination.

(A) Were in a properly

(B) Has come in a proper

(C) Are wearing a professional

(D) Is carry a beautiful

(E) No correction required

In the following question, a sentence is given with a
phrase highlighted in bold. Select the option given
below that can replace the phrase in bold to make
the sentence grammatically and contextually
correct and mark that as your answer. If the
sentence is correct as it is, mark 'No correction
required'’, as the answer.

Every man and every woman in this institution
have the right to speech and expression.

(A) On these institution possess

(B) In this institution enjoys

(C) In this office acquire

(D) At this organisation have

(E) No correction required

In the following question, match the statement from
column 1 with column 2 and find which of the
following pair of statements given in the options
make contextually and grammatically correct
sense.

COLUMN 1 COLUMN 2

A. The widower father | D. a royal palace in
has raised Rajasthan.

B. Her destination | E. three daughters all by
wedding was held at himself.

C. She shocked me | F. because she has cut all

with her new hairstyle | her hair short.

(A)A—F (BYA—E,C—F
(C)C-D (D)B-F,C-E
(E)A-D,C-E

In the following question, match the statement from
column 1 with column 2 and find which of the
following pair of statements given in the options
make contextually and grammatically correct
sense.

COLUMN 1 COLUMN 2
A. She went to the | D. of her favourite singer
concert yesterday.
B. | have made a | E. diary to track her

sketch using monthly expenses.

C. She writes down | F. the shading pencils

everything in her gifted by you.

(AVA-D,B-F (BYA—E,C-F
(C)C-F (D)B-E
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(E)YA-E,C-F,B-D

In the following question, match the statement from
column 1 with column 2 and find which of the
following pair of statements given in the options
make contextually and grammatically correct
sense.

COLUMN 1 COLUMN 2

A. The volume of the | D. saris and other types
music playing on the of ethnic wear.

B. Sugar is an | E. speaker was so loud
important ingredient | that | woke up from
for sleep.

C. She knows how to | F. making any dessert for
stitch beautiful a special occasion.

(A)A-D (B)C-E
(C)B-E (D)A-E,B-F,C-D
(E)B-D,C-F

In the question below, a sentence is given, divided
into four parts (A), (B), (C) and (D). One of the parts
is grammatically/contextually incorrect. You are
required to identify the part that s
grammatically/contextually incorrect and choose the
option accordingly.

You might be knowing, (A)/ still let me repeat that
(B)/ many a man have tried (C)/ but few men have
succeeded. (D)

(A) C (B) A

(C)D (D)B

(E) No error

In the question below, a sentence is given, divided
into four parts (A), (B), (C) and (D). One of the parts
is grammatically/contextually incorrect. You are
required to identify the - part that s
grammatically/contextually incorrect and choose the
option accordingly.

No sooner had the health officials (A)/ come to know
about it when (B)/ a team reached there and (C)/
took the swab samples of 200 people. (D)

(A) C (B) D

(C)A (D) B

(E) No error

In the question below, a sentence is given, divided
into four parts (A), (B), (C) and (D). One of the parts
is grammatically/contextually incorrect. You are
required to identify the part that s
grammatically/contextually incorrect and choose the
option accordingly.

To this, a renowned doctor said, (A)/ vaccines can
be administered, (B)/ however it is preferred to get
(C)/ vaccinated after eating something. (D)

(A) D (B)B
(C) No error (D) C
(E) A

In the question below, a sentence is given, divided
into four parts (A), (B), (C) and (D). One of the parts
is grammatically/ contextually incorrect. You are
required to identify the part that s
grammatically/contextually incorrect and choose the
option accordingly.

The number of undocumented (A) migrants
reaching Britain in (B)/ small boats this year have
(C)/ surpassed the total for all of 2020. (D)

(A) B (B)C

(C)D (D) A

(E) No error
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In the question given below, a sentence is given
with one blank, followed by five options, each
having a word that may or may not fit in the blank.
From the given options, choose the one that gives
the correct word that fits in the blank.

Black holes, some of the most peculiar objects in
the universe, are difficult to understand and have
been a long — standing for scientists.

(A) mystery (B) puzzling

(C) simplicity (D) problems

(E) confuse

In the question given below, a sentence is given
with one blank, followed by five options, each
having a word which may or may not fit in the
blank. From the given options, choose the one that
would correctly fit in the given blank.

The other day, | ran into an old friend | hadn't seen
in years.

(A) Tenth (B) Ten
(C) Less (D) This
(E) That

In the question given below, a sentence is given
with one blank, followed by five options, each
having a word which may or may not fit in the
blank. From the given options, choose the one that
gives the correct word that fits in the blank.

In a backhanded she said he looked very
good for his age.
(A) complaint
(C) compliment
(E) comment

(B) complement
(D) remarks

In the question given below, a sentence is given
with one blank, followed by five options, each
having a word which may or may not fit in the
blank. From the given options, choose the one that
gives the correct word that fits in the blank.

Cotton itself has so many such as cotton
duck, cotton same, cotton jute, tapestry cotton, etc.
(A) alterations (B) variations

(C) contrast (D) verity

(E) differences

Directions [89 — 93]: In the question below, a set of five

89.

90.

statements is given, all of which are jumbled in any
random order. Rearrange the statements in the
right order and answer the questions that follow.

A. We live in unequal worlds, and few of us are
unaware of, or indifferent to, that fact.

B. But if others take more than their share, we
resent being played for a sucker.

C. As experimental economists have shown, we
tend to enter social situations prepared to take a
chance and cooperate in collective activities.

D. Most of us live in social worlds that are
profoundly unequal, where small elites have vastly
more power and wealth than everyone else.

E. Very few of the have — nots find this fact
congenial and worthy to them.

Which of the following should be the first sentence
after rearrangement?

(A) C (B) D
(C)E (D) A
(E) B

Which of the following should be the third sentence
after rearrangement?
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(A) A (B)C
(C)E (D)D
(E)B

Which of the following should be the second
sentence after rearrangement?

(A) C (B) A
(C)D (D) E
(E)B

Which of the following should be the last sentence
after rearrangement?

(A) C (B)D
(C)E (D) A
(E)B

Which of the following should be the fourth
sentence after rearrangement?

(A) D (B)C
(c)B (D) A
(E)E

Directions [94 — 100]: Read the following passage carefully

94.

9 | Page

and answer the questions that follow.

It is evident to the most superficial observer that
the basis of our national character is English. It is
so, not only in language, but also in manners and
customs, in our laws and institutions, in the
structure of our domestic, political and
ecclesiastical life, in our literature and religion. It is
perfectly idle to think that this country will ever
become German, or French, or Irish, or Dutch. Let
them emigrate by hundreds of thousands from the
continent of Europe, they will modify and enrich,
but they can never destroy or materially change the
Anglo — Saxon ground — element of the American
people.

But with all due regard for good old England,
America is by no means intended to be a mere
copy or continuation of it. If our nationality, owing
to its youth and the many foreign elements still
entering into its composition, is less solid and
compact than that of our older brother, it is, on the
other hand, more capable of expansion and
development; it is composed of a greater variety of
material and destined ultimately for more
comprehensive ends by the Almighty Ruler of
nations, who assigned us not an island, but a
continent for a home, and two oceans for a field of
action.

If ever a nation was laid out on a truly cosmopolitan
basis and gifted with an irresistible power of
attraction, it is the American. Here where our globe
ends its circuit seems to terminate the migration of
the human race. To our shores they come in an
unbroken stream from every direction. Even the
tribes of Africa and Asia are largely represented
amongst us and call our country their home. But
whatever may be the ultimate fate of the red man,
the negro and the Chinese, who are separated
from us by the insurmountable difference of race,
it is evident that all the civilized nations of Europe,
especially those of Germanic origin, have
contributed and will continue to contribute to our
stock.

Which one of the following pairs of ethnicities is not

mentioned in the passage?
(A) Asian, African
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(B) French, Dutch

(C) Anglo — Indian, Prussian
(D) Asian and Chinese

(E) Irish and French

According to the passage, which of the following
sentences describe the reality of American people,
with respect to the European migrations?

(A) Americans are liable to adapt to the changes
suggested by the Europeans.

(B) Americans do not readily accept or welcome
European migrants.

(C) Americans merely copy everything from the
English.

(D) The Anglo — Saxon ground element of the
Americans can never be destroyed or changed.

(E) A separate colony has been allocated for the
European migrants by the Americans.

According to the passage, which of the following
statements is the reason for the separation of the
Red man, the Negro and the Chinese from the
Americans?

(A) Americans started oppressing them

(B) Lack of sufficient job prospects

(C) Intolerable environmental and economic
conditions

(D) A silent conflict of power between those
ethnicities

(E) Due to the racial differences between them

According to the passage, which of the following
sentences rightly describes America?

(A) It is a cosmopolitan continent with great power
of attraction.

(B) It is an island nation with larger variations of
materials.

(C) It is a semi — cosmopolitan nation with
irresistible power of attraction.

(D) It is a land of migrants with its entire source of
living from Europe.

(E) It is an independent nation ruled by many
almighty rulers of the history.

According to the passage, which of the set of
things are adapted by the Americans from the
Europeans?

(A) Laws, Language, Constitution

(B) Character, Structure, Businesses

(C) Manners, Customs, Law

(D) Politics, lifestyle, Administration

(E) Religion, Literature, Constitution

According to the passage, which of the following
sentences is false?

(A) Tribes from Asia and Africa also called America
their home.

(B) Germany has largely contributed to America.
(C) The nationality of America possesses the ability
to expand.

(D) People who migrate to America come from a
particular region alone.

(E) America let the English modify and enrich it.

Which of the following is the synonym of the word
'insurmountable’ that is highlighted in the
passage?

(A) Underwhelming
(C) Unaffected

(E) Insuperable

(B) Receptive
(D) Conquerable
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